Honors Algebra 1 - Chapter 2 Review #2

Name:

Date:

Period:

Instructions: Clearly show work to receive full credit. Circle your answers

Section 1: Review Solving Proportion Equations (Solve and Check)
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Honors Algebra-1 - Chapter 2 Review #2

Section 2: Review Proportion Word Problems. Write the Key Info. Define the variable. Give the

Proportion Equation. Answer in words.

1. Water was leaking from a faucet at a
rate of 1.5 gal every 5 min. If it took
18 min to stop the leak, how much

water was wasted? e O prapes FEN
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2. The ratio of mango juice to guava juice
in Paracdise Punch is 5 to 3. Leilani
has 32 1l oz of mango juice. How
much guava juice does she need?

8. A locomotive is 58 ft long and 11 ft
wide. A special effects designer makes
a model that is 20 in. long. How wide

4. A marathon runner ran the first 4 mi
in 27,8 min, If she continues running
at this pace, how long will it take her

should it be? i to run the entire marathon of 26.2 mi?
[<i-.‘ N ’PLOM Kl q 4 5 P{\a pqr"'l\q' Y3
TReN quw? P Ronne~ IMVES o
S&+4 x W+ 71& Vg ("qt" o 7. &M
e X . 4 2¢.2
MDf.leI Mcr:""{‘df\ 'S ALami. | — ~ ——)—(—-‘
20/W K T wdth X =3:793 4.5 |
:&m‘l\l '*ONA -
T * ES
X = W OI'H’\(I" o Merec thond
" to |
G e ™ (R ks 50mar)
Dowit > "oy SXSa Yo N Mesotton o~
10. An ant that weighs 0.004 oz can lift a - &¥ 16 o2
bread crumb that weighs 0.2 oz. If ! lzetbs 2 2&
12D-p§1§:‘1d pers?)nv;rne;f‘g ?Jmpoc:'?iona?ly -~ | lbs = b 92002
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the person Lift?
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Section 3: Simplify Expressions. Write in standard form with the variable terms in the correct

order(H->L or ABC) and constant last. Circle Answer.
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Section 4: Review Properties. Ao Ry
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Honors Algebra 1 - Chapter 2 Review #2
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SECTION 6 : Name the set or sets to which each namber helongs. W=whole number;

I=integer; R=rational; IRR=irrational ﬁ i r 15
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Section 7: Solve and Check Difficult Equations. Round to 2 decimals.
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